| Efficiency vs Dxy |
.02
X

<N S T S S A S S
L R e S
< S R R R T T T
e e

_Q) - H H H H H H H H H
e A A 0 S A
© - : : : : : : : :
0.012 et *# """" rorrrpreie
s o o o s o o
0008t b
e e o e
L R T T S
T e

OL.\@_IIII;Illl;llll;llll;llll;*lllillll;llll;llll;llll

Rati

09—525 S TIETIG e 0 B 16 18 30 35

TP dxy (cm)

NM—mMRET_T Torgimna
“mkFit_TToriginal-106
“mkFi
“mk
“mkFi

—a— D

_ —— D

| Efficiencyvs Dz | |—=—1B
—_—D

ND.O5
© : : : : :
@045— """"" """""" """""" """""" """"""

71U S S SRS S

"75035? """"" U N W S —
0-03? """""" S S TR N -

T s s S o
0.02F - ........... ___________ ___________ Lo

0.015f v H— Ll
0,00

0.005 vt ooveese

TP dz (cm)



	Contents
	Page 1


